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Specification cwss/YIS 5 Slasie

Test Item Test Method Spec./Requirement |Acceptance Criteria| Test Result
Ball with size of Ae”.
Ball Pass Test - of inner diameter Ball Pass Pass
shall pass.
Pressure Test Pressure : ' bar
time : omin No Defect. No Defect Pass
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IEC 1.¥4£-1-Y E) No permanent residual
DY damage greater than Yo7,
Load: Weight of Ykm Duct geg ]
Test Sample Ball with size of AeZ of inner
Tensile Test] Length:Y+ -mm diameter shall pass Ball Pass Pass
No permanent residual
IEC 1.Vvai)-Y EY damage greater than Yo7,
Crush Load: Y+« +N e o Ball Pass Pass
(Bundled & Ball with size of A7 of inner
D N diamatar chall nacc
No permanent residual damage
Bend greater than o7, Ball Pass Pass
[EC 7-vaE-¥ END Ball with size of Ae7 of inner
diameter shall pass.
IEC 1+Va£\_Y Ef No permanent residual damage
Vol
Impact Impact Energy: 1,03 & )sg|dreater than Yo7, . Ball Pass Pass
(Bundled & Recovery:Yhr Ball with size of Ae7 of inner
Drimman: diameter shall pass.
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